


paTeﬂbHo
BHI/IMaTeJ'IbHO B




e E ‘ e + ’ . e

L. SN e S

Bce - Ha cfrapT. FoToBbl, Aetu?
*[onetm MbiH TEe.

e




4

Y CcTHBIHA cUerT

3+ 3=
14-3 =
11+6 =
8-8=

6+1=
11-8=
4+5=
15-9=




+

- Mnawneta «oocog

* ‘

TRY Sl o (2
- MuHyTKa YMCTONMCAHNS, BCIO
" CTPOKY




J'InaHeTa ‘ AWK




4. ~lema ypok TL+‘
Cno>|<eH|/|e |/| BblYMTaHUE
C prFJ'IbIM YUCIIOM

4
‘
! * 4 !
4 " .
. J 4
4 i -
4 ! o 7 7, 3
'S o T
4 ! 4\
4




JlecsaTku EanHunel




+

t 4
+ ‘ ! . t ! 4 ‘
naHeta ya 5
‘ : '* + ! 4
. i T ‘ .

4 ‘ + j \ “ ‘
20+4=




' 4
+ ¥ ' . ‘ ‘
+ 4 4 t | '
[TnaHeTta SET
. ) * + : :
. i\ ‘

20+4=24




J‘"In‘aH‘e'Tg N3y ‘- K
20+4=24
4420=2
24-20=4
24-4=20 . =




 TlnaHeta
e

40+7= 23-3=

30+6= 38-8=
10+5= W 49-9=
50+4= 72-2=

4










